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Materials

For this paper you must have:

« a calculator

« mathematical instruments

e a copy of the data book (examination) (enclosed).

Instructions

* Use black ink or black ball-point pen. Draw diagrams in pencil.
» Answer all questions. 4

» You must answer the questions in the spaces provided. Do not write TOTAL
outside the box around each page or on blank pages.

« Do all rough work in this book. Cross through any work you do not want
to be marked.

« State the units of your answer where appropriate.
Information

» The marks for questions are shown in brackets.
o The maximum mark for this paper is 60,

» You may ask for more answer paper, graph paper and tracing paper. These must be tagged
securely to this answer book.

¢ Evidence of checking is specifically assessed in Questions 1(a) and 4(b).
These questions are indicated with a t.

Advice
¢ |n all calculations, show clearly how you work out your answer.
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Based on your results from this initial
assessment, we estimate you are
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

suitable:
Functional Skills English Initial Assessment

L Functional Skills
Maths Level 2

=35 @105
Start initial AssessmEnt

Functional Skills Maths Initial Assessment b3

Pick my own

Start initial Assessment

v’ Explainer videos on every topic

v'  Quick-fire style mutiple choice
questions

v' Test your knowledge with
exam-style questions

v Written solutions for all
questions

Course Completion %

Previous Results for Addition and Subtraction (including

16 TOPICS

Using Numbers

Start Learning

FUNCTIONAL SKILLS
ONLINE COURSES

v Your answers are analysed to
determine your Current Level

v Suggested courses for you to enrol
on based on your calculated level

v’ Always know the level you are
currently working at

v Determine when you are ready to
sit your exam

27.08% Complete

Or visit

See your progress through as you
progress through each topic area

Get your average scores for practice
questions, topic tests and mock exams

View all practice question, topic test
and mock exam attempts over time

View historical attempts to analyse
your progress over time
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Answer all questions in the spaces provided.

1 Tenpin bowling
There is a data sheet for Tenpin bowling.

| am captain of a tenpin bowling team.

Anna

Anna is playing a game against Ben.

t1 (@)  Anna has completed two frames of the game.

Work out her total score after Frame 2

[2 marks]
_F1: \04%=\%.  F2: &z . i
g +a= 21,
Check your answer.
Show how you have done your check.
[1 mark]

21-(0 +3)- 0.

nm
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1 (b)  Later, Ben has one more frame to play.

In Frame 10, Ben knocks over

5 pins with his first ball
3 pins with his second ball.

He says,
“My final score is more than 115"

Is he correct?

You must show your working.

[4 marks)
fR: IS 4040 =98
fq: 9S+w0+S= wo.
_FI0: 04 S+3= g, o

He s corect.
Question 1 continues on the next page
Turn over »
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Anna has to choose a new player for her bowling team.
She can choose either Jamil or Tom.

Jamil and Tom have each played some games against Anna.

Here are their final scores and results.

Jamil Tom
:{:::le Result _ ::E:L Result

155 Lost | 191 Won
W Lot 160 Lost
216 | Won | 134 Lost
182 Lost 210 Won
178 i Won | | 182 | Lost
177 | Lost | | 202 Waon

| 159 Lost

146 Lost
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1 (c)
| have a greater chance of winning
~ against Anna than Jamil does.
Tom
Is Tom correct?
You must show your working.
[3 marks]
5 - 3
Tom? 3 wins oot of & games 5 7% = 0-3718
o | V.
~Joed\E 2 ydns  guk oF b B D 65 08
B Tom 1S coxreck ) e
1 (d)

On average, my final scores were
higher than Tom’s.

Jamil

Is Jamil correct?
You must show your working.

[4 marks]
Jonii s ISS4 /4T 4.4 (194177 = 1056,
105t
& = K16« -

_Tom = 19W160 r... 4 1sq+wb = JB]L
1384

_ \)QJW{\\ S _Coeeck.

Turn over »
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2 Sandwiches

I make and sell sandwiches in my shop.

2 (a) Amiruses 300 grams of spread to make 25 sandwiches.
He buys the spread in 2.5 kg tubs.
He has no spread left.

Next week, Amir wants to make 500 sandwiches.

How many tubs does he need to buy?
You must show your working.

[5 marks]
e 30% = 0-3!13_( %2_35 /

E— ___O_.'SJ?:_"}____.______ e
e - Q.0v2kg per sandunich -

OO nm \x.,__.S_QQ____E___.._G?_?j __needed .
b

LI

|B/M/Mar17/4368



Do not write

PassFunctionalSkills.co.uk outide the

2 (b)  Amir puts the sandwiches in cuboid boxes.

. _
; 5em

= 12 cm

The boxes of sandwiches are packed in cuboid crates.
The boxes are all packed in the same way, as shown.

: 18 cm
i
| ’L _________________________________________________ ¥
] B 5¢cm
st 12cm B
Work out the maximum number of boxes that can be packed in one crate.
You must show your working.
[4 marks]
o CI_QCE" G " 28em - \&%n
e s——— e 9 S - =3k = .
[Sem ) om 20 $2 ) Sem 3= 3

L
07
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Amir delivers sandwiches to four offices.

The diagram shows the driving distances between his shop and the offices.
The distances are in miles.

Not drawn accurately

24
| Office A
Office D
0.9
Shop 18
3.2
Office B
Key

23

_/ /‘ Bridge

The road between the shop and Office C goes under the bridge.

L
08
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2 (c) On Monday, Amir drives
Shop —> Office D —> Office C ——> Shop
How many miles does he drive?
Circle your answer.
[1 mark]
34 43 @ 54
2 (d) On Tuesday, Amir drives from his shop.
He visits each of the four offices.
He then drives back to the shop.
Work out the shortest possible route.
Include the route and the total distance he drives.
[3 marks]
_S9AD 09 R saCHS ]
= 0-942-4 42 42-241.0 = B-9. -_
SO D0D3CH83A3S -
5 |.b F1-€ +2-343-2 40-9 - Q& .
S9ASD2R8=2C55 A
Shordest  roux<
13

L Tumovr >
09
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3 Hairdressing salon

| am opening a hairdressing salon.

b

Jeﬁﬁy'

3 (@ Jennyis designing the salon.

Each sink will need a square space with sides of 50 cm

Each chair will need a circular space with radius 50 cm
She wants

three sinks against the same wall, at least 1 m apart
* four chairs in a line, each 1 m from one wall

a rectangular reception desk measuring 1 m by 50 cm
a rectangular display cabinet measuring 2 m by 1 m

a rectangular waiting area measuring 2 m by 1.5m
* the door to be able to open fully.

Show a possible design on the scale drawing opposite.

[6 marks]

W
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Practise on this diagram.

Scale 2cm=1m

. i e et i e ] e e e i e

e S R i e LTt e A ot bt et Hlohetad pitehy Lot Al et b B et b et
X |

Put your answer on this diagram.

Scale 2cm=1m

pe

ah

ea

afaii
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Here are the people who work in the salon.

Stylists Juniors

Jenny  Craig Fay Mia Erik Wendy

The salon opens six days each week, from Monday to Saturday.
There are two shifts each day.
From Monday to Friday, two stylists and one junior work each shift.

On Saturday, three stylists and one junior work each shift.
Each week

Jenny, Mia and Erik each work 8 shifts
Craig and Fay each work 5 shifts

Craig does not work on Saturday
Wendy works 4 shifts, all in the afternoon
each stylist has at least 1 full day off.

Make a possible rota for one week.
Use the grids opposite.

[4 marks]

IB/M/Mar17/4368
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Practise on this grid.
Morning shift Afternoon shift .
g — : — . —
Stylist 1/ Stylist 2| Stylist 3| Junior |Stylist 1 Stylist 2| Stylist 3| Junior |
Monda | O : .- i -__ _
_ y J_Cﬁ“j ‘kl’hj Er-\h. (xﬁﬂwn_ Jt‘x\ﬂj_ t':'h_ }
 Tuesday M:a Jtnnj Ean ' Nia Jcnnj Eiike |
Wed : ] : . ¥
A ednesday Mia Cmtg L Mia ij wendy
| Fri I % | | |
Py Foy | Mia Eav | Fay | Jenny | ey |
iiaturday Jenny ! Fay Mia | Esk E Jeany | ey M3a ‘ “"!e’dj‘
EET L g Potcect] CwT AT
Put your answer on this grid.
Morning shift Afternoon shift
Stylist 1| Stylist 2| Stylist 3 Junior |Stylist 1| Stylist 2 -I Stylist 3| Junior
|
! 7
: Monday j eang Ceaig Eqn jenn-j Craig Entu
Tuesday Jenn Y Mia Ece  |Teny | Mia Esv
WEdl"IESday MTI a Cﬂﬁj E Ak N] o8 Cf‘-\l_j Ne.-‘U
1
Thursday ~a Fag Eaw | Jenny Crosg : Wenly
Friday 5o Fﬂ'j (= 5@.«3 ﬁc\j \We a-\j
Saturday Jemj e | Fag | Eae | Jenny Fay | Mia | wWeady
“"m ""Imlll' - S 'furn over. P-
173 IB/M/Mar17/4368
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3 (c) Here are the prices at the salon.
Cut and blow dry £33
Cut and colour £60
In the first week the salon has these appointments
35 for a cut and blow dry
15 for a cut and colour.
The table shows the number of appointments for Craig, Fay and Mia.
Cutand blow dry  Cut and colour
Craig 5 2
Fay 4 3
Mia 16 4
The rest of the appointments are for Jenny.
In the first week Jenny will pay
e 10% of the price of their own appointments to Craig, Fay and Mia
e £980 in other wages
e £325in other costs.
Work out Jenny's profit in the first week.
[6 marks]

C){AM.‘
gllo+u+es)x33 = 3§25

W24 W+ h g[8 <017 38150 leit fo

Commission (€ +30).
(14344 x O = §S%O D  LSU  (ock fo commisen (€L

i

IB/MIMar17/4368
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15 Ouf.']égl:fm
3S x £33 7 XSS wade (from C+8D).
,S X 5()0 = L ‘lm m’lde ( Frnm C+10),
B o -}2_0 SS nade u&kogq‘ner.
'RO'SS %018 07130
98 O :7 = B 5 <y
: —— SO S e
WEE % _ b a6
e [———— . o e e S e e s g e i e
_ bqgf. 0O -
- %2.50
1 3-sO _gjblgSO_ r‘emolt_n“tﬂg-____
16
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4 Electricity
There is a data sheet for Electricity.

4 (a)  Joe has an electric fire with three settings.

Setting High Medium Low

Power | 2kW 1.5 kW 1 kW

Last week, he used the fire on
High for 6 hours on 1 night
Medium for 5 hours on each of 4 nights
Low for 3 hours on each of 2 nights.
Electricity costs 15.5 pence per unit.

Joe says,
“Last week, the cost of electricity for using the fire was less than £10"

Is he correct?
You must show your working.
[6 marks]
" bhe x 20w = ]2 bWh. e
Ly Shox ISk uww. 00000000000
2x 3h x | hWd = b wwh
12 + 30 46> hghwe k.
b¥ x  £0.185 = X 7T-44 _
Mes, e s correct
M
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Joe has a lamp that uses one light bulb.

t4 (b)  Anordinary 100 W bulb

¢ |asts for 6 months
* costs 89 pence.

How much will Joe pay to buy ordinary 100 W bulbs for his lamp for 4 years?

[2 marks]
. S, . .
Ly jt"ud-‘: ug Month s, b _~ g bdbS NUZ.Ole .
¥ x 408 = [\
Check your answer.
Show how you have done your check.
[1 mark]

LT = BB % ks,

- E}T“"ZS__ L8 ents, o L._P__jearj_-

. _____.__ﬁ_.\_Bb_qul;.___z\___.@_mﬂ{:b;_pg« bulby

Question 4 continues on the next page

L e
17
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4 (c) Joe looks at the cost of buying and using ordinary 100 W bulbs or a low energy bulb for
the next 4 years.
He makes these notes.
The lamp is switched on for 240 hours each year.
Electricity costs 15.5 pence per unit.
A low energy bulb
* lasts for 4 years
» costs £13.88
o uses 20% of the number of units of electricity used by an ordinary 100 W bulb.
He says,
“The total cost is less if | use a low energy bulb.”
Is he correct?
You must show your working.
[8 marks]
_100W bdks:  toow = O-\wW- o
O-lhw X 240k xtr=  JbbWn  over 4 years.
9 x0.sS = EWMRE cer 4 Yeors.
Pty £70= $22 bkl ar b geurs
LE bt e
0-2 x §w-& '_—T_..___; 2.9T6 owe 4 yewrs
£13.88 4 £2:970 2 Flo-86 kil o Yyes
Yes, he 15 Corcect.
END OF QUESTIONS
l “I||! |IWJ||} “|| IB/M/Mar17/4368
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There are no questions printed on this page

DO NOT WRITE ON THIS PAGE
ANSWER IN THE SPACES PROVIDED
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